is the non-living part of plant cell.

(A) Cytoplasm (B) Plastids
(C) Centrosome (D) Vacuole
Afts Sl Mg el 8.

(A) W —B) @R
(C) A2 (D) aAsyild

2 A g sdad-l wAl vl Rsey ).
Ald? % A elsil *RLal
(A) Rad ¥ -Ud? zau 8
(B) @ $di &oll i ot »d 8
—(©) el 2691 Yl sl [ade w w2 ?
(D) 2 M U2 $dl

3 {12 wuda aisdddl Asl ARl Rsey k).

a vy 8
(A) a-ull wa 8 (B) d-ll wd waid
(C) AR wasd 8 (D) dd wagiad

4 A3 wda asadd eudndPiud 0l [Asey ).
SR gelsE 52
(A) sRi-ell ge1ge 52U B (B) el seise 54
(C) sliell geige sA4 (D) el geige 2 B

5 2 wwla wel asdd Asdi DM ADorsy Ruseysiel] 4.
WA Fadi ol gl wddl Ao o)

(A) muet (B) 2y 3%
(C) wdi (D) @3
HSA (194)_C 2



chemical compound has been found to be present in Tulsi.

(A) Eugenol (B) Asparagine

(C) Saponins (D) Geranial
b b qeli e dad e v 8.
(A) yu-a (B) HauRw-

(C) A= (D) %4

If a crop is to be irrigated at 0.75 IW/CPE with 60 mm irrigation
depth, at which CPE it should be irrigated ?

(A) 60 mm (B) 75 mm
(C) 70 mm (D) 80 mm

A wsd 0.75 IW/CPE uz 60 {1l Glasl Rz 524l &y dl s4l CPE
Y2 Ad Riag sdl Adu ?

(A) 60 B) 75

(C) 70 i+l (D) 80 Il

The TSS of fruits is measured using instrument.
(A) Dendrometer (B) Reflectometer

(C) Refractometer (D) Hygrometer

sl ABRHA A GudaL s wyani A 8.
(A) IRedleR (B) Rsasdn{leR

(C) RisdleR (D) a1l

Central Agmark Lab is located at

(A) Mumbai (B) Delhi
(C) Nagpur (D) Faridabad
Az Noous Al w Bd 8.

(A) 4o (B) [Redl
(C) vy (D) sRewue

HSA (199)_C 3
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11

12

13

The systematic examination, description, classification and mapping
of soils in a study area is called as

(A) Soil Genesis (B) Soil Fertility

(C) Soil Chemistry (D) Soil Survey

o Al gl HaRud udlael, ael4, aolseel w1 %l s
oitadidl vedA  ddly slavani 24 8.

(A) ol Gl (B) w4l sagudt

(C) ol @RI (D) wl-dl 1ozl

Maize, sugarcane and sorghum are examples of __ plants.
(A) C3 (B) C5

(C) c4 (D) CAM

w51, 4 A g ol Gewseld 8.

(A) A3 (B) 5

(C) 4 (D) AlAny

gogars W2 A5 woerdl Wl Rse wie s

aig WAL ARl oy -

(A) 23uel (B) saluy
(C) diRsde (D) yuiq

42 AWl qusasl Heed W5 wRUAL
vistaell auladl ) bR geit 44
(A) R0 (B) waw

(C) =4 (D) yed)

HSA (194)_C 4



14 ey w8l AR s salad Rsey weudl,
(A) Qlay, AR, gy, R
(B) yRay, yycu, Wis, Qe
(C) yyau, YR, Woukar, AL
(D) Alis, Qolay, YRy, 33U

15 <02 »da asaHd Fud s0avA.
S22 yel ¢d 3qa 23{AA ¥ B.
(A) ual (B) %aa
© = (D) GuRsd dMIH

16 The conversion of ammonical form to nitrate form by bacteria is

known is

(A)  Denitrification (B) Nitrification

(C) Ammonification (D) N fixation

As3Rul gL AU |FU UFg2 AFUHL JUR adl3 2avua
8.

(A) YFARZU (B) -usAE3u-

(C) AU (D) st Bsdun

17 Engine in which one cycle is completed in two revolution of

crankshaft is called as _ stroke engine.

(A) One (B) Three

@), Two (D) Four

Jesaugeel 8 ussl A5 Asud) yel adl S dl da AR ¥ls
AR sl 2 8.

(A) As L (B) e

© & (D) W

HSA (194)_C 5
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Which fungus is used as bio-control agent for soil borne fungal
diseases ?

(A) Fusarium spp. (B) Trichoderma spp.

(C) Beauveria spp. (D) Metarhizium spp.

56 g0 QUL WAl udl o Asd W sl-5d Ay-e
auy | ?

(A) &4Ruy Y. (B) 2185l wflaflay.

(C©) oyalu wfla. (D) A2aRbBux 2.

19 The speed of CPU of computer is measured in
(A) GB (B) KBPS
(C) Bytes D) Hertz
sl (YA 33w WA 2wl 8.
(A) @l (B) Yella
(C) susen (D) sz
20 Those plants having male and female flowers on separate plant e.g
papaya and date palm are called as
(A) Monocarpic (B) Dioecious
(C) Mesocarpic (D) Monoecious
¥ O Mad-vEd B18 W R 2T el gl du B 3wy wA wR
Al adld wawu 8.
(A) N-Asis (B) sl
(©) ANy (D) Asly
HSA (194) C
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22

23

24

25

Which method is very fast for establishment of lawn in garden ?

(A)  Turfing (B) Turf plastering
(C) Seed (D) Dibbling
ol dle-l @uudl w2 58 Uglt vior a3l 8 7

(A) 2% (B) 2§ wwrelal

(C) ol (D) Reiliat
Transpiration occurs mostly through of plants.
(A) Stomata (B) Cell wall

(C) Nucleus (D) All of the above
oifletad Hlal e{idl 9lisl gL ALY B,

(A) welRsl (B) udl, sl €laa
(C) ~y[saux (D) GUASd dHI

The famous rose breeder in India and known as the "Father of Roses
in India" is ;

(A) Dr. B. P. Pal (B) Dr. G.S. Randhava

(C) Dr. K.L. Chadhdha (D) Dr. M.S. Swaminathan
GURAME MvUld daiol Aads A FA Ceurddi ol fdr’ ddl3
vl 2 8 d 8.

(A) 4. ol dl. wa (B) d. .9y, Al

(C) 3. 3.vd. gl (D) 8. .20, RaUleias

The scientific order of fruit fly is

NA) Diptera (B) Protura
(C) Isoptera (D) - Coleoptera
s Wl Qs 5% 8.

(A) Rex (B) MU

(€) 2usAU (D) AU

The reduction in the value of the asset due to wear and tear or time
of obsolescence is called as .

(A) Demand ~ (B) Appreciation

(C) Supply (D) Depreciation

argetl 4RI A Ul HAR YEA SR8 GUAPAE AL Slaell -l Auf
yeuni adl g2l a3 2 8.

(A) HidL O(B) MR

(C) Yrad (D) Wyt

HSA (194)_C 7
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"Deep ploughing during summer to expose pupa against sunlight or

predator” is a __ method of insect control.
(A) Natural control (B) Physical
(C) Cultural (D) Mechanical
“gbusia waal Ml s2di feal il Wi e saan Hi2 Gruol suI
G4 W A7 d Fqbebedl B ugl B,
(A) gerdl M (B) ofifas
(C) &y ud (D) uibrs
27 A oM R drud] sunie) asedly ‘a1 dllnsa’AL 495 Heluy
*RadRiey s sun wws eqy ?
(A) oliza (B) Ruigyz
©€) Fuae (D) ouaaR
28 ulug avilel uda st udai wdd) B ?
(A) uws2 .(B) x212
(C) sqa-drR (D) %+
29 ol AU su BlEsa v-ad el [avys opsami il
el Gur ulasia-ll A2 sl »udg @ ?
(A) 2ulesa - 329
(B) »ulsa - 314
(C) 2ulsa - 307
(D) AL w1 wsiR-Al S AU el
30 A5 el %L AvHwEnl ¥ 4 RUrueuH) weyey Yeoll yedlal way
/\ AL Wi AL AL MR AR 531 wulEse viqsld s2ami
29 ) ?
(A) 2ulsa - 176 (B) awfesa - 112
(C) »uldsy - 138 (D) 2ulEsq - 190
HSA (194) C 8
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32

33

35

Which fungus is responsible for production of Aflatoxin ?

(A)  Aspergillus (B) Trichoderma
(C) Claviceps (D) Penicillium
A2\ BurAL Geuted HIZ 565 4oL wamel B 7

(A) slwrzway (B) z16515u
(C) salaaw (D) Unluldum
Gladiolus is propagated through .

(A) Bulb <~ (B) Sucker
(C)y Rhizome (D) Corm
sdlbulay del Qs oo gl sy 8,
(A) oles (B) use

(C) USAN (D) 4

The operation of covering the soil by organic or inorganic material
for its conservation is known as B

(A) Training (B)' Mulching
(C) Drilling (D) Staking

ol d-il deel M2 siolls maq) wsiells amal g sisaddl sellda
ddly siavami 2ud 8.

(A) adln (B) wl@i=

(C) ursA (D) =02

Scape and pedicel are basal segments of  in insect.
(A) Leg (B) Cranium

(C) Antennac (D) Wing

By wA WA Tl e ol 8.

(A) W ©(B) dMum

(C) =2l (D) wiw

“Bunchy top of banana" is tegnsmitted by |
(A) Aphis gossipy (B) Stephanitistypicus
(C) Pericalliaricini . (D) Pentalonia nigroneruosa

il ol Ay e VRN
&) Al A T B) Relzaasisy
(C) WRsfrulRAl-

(D) AR Rl

HSA (194) C 9
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37

38

39

40

___is a nitrogen fixing bacteria.
(A) Azotobacter (B) Phosphobacter

(C) Bacillus (D) Aspergillus
s Rl sdl Al 8.

(\A) ANAGLLR (B) 8RkelasR

(C) Aluan (D) 2RMWEY

ourdly AR 541 B vad O uel AL el MRS
AL 2 B 7

(A) 2ulsa - 152 (B) ulesa - 155
(C) »ulesa - 143 (D) ulesa - 158

UMl ‘Dse Aaydud L sut qeiqeuardl wedi deausi 20d 8 ?
(A) & U WAUE (B) . uwlwarud
() oY FAAIUAA (D) aduedl uHgRAA

A salda Ast Weu dad A,

(@) Aol vl audl aliareil (1) - AiRks
goreldl ¥l sulanr

(b) %MeU sl vl FUHSS T A2) &

(c) @assa et 1000 5 3) s€ABR
AN Wl A SR
@ a2 g Bel < (4) AN wueal AR

(A) ()-3), (d-®), (b)-(1), (©)-(2)
(B) (b)-(3), (©)-(4). (d-(1). (a)-(2)
(C©) (e)-(1), (a)-(4), (b)-(3). (d)~2)
D) (@)-(1), (©)-(4), (b)-(3). (D-Q2)

MS Exceli =IF((A 1>=35), "PASS", "FAIL") yoini dee fa **)")
WL s e ?

(A) dla
(C) awa

(B) quedf)
(D) e

HSA (194)_C 10
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42

43

44

Percentage of sand, silt and clay is called as
(A) Soil Structure \(B) Soil Texture

(C)  Loam (D) Soil Color
A, siw 2 WA sl PRETCI R
(A) ol @~ (B) oMl okl
(C) dn (D) ¥l

chemical is used for desuckering in banana.
(A) NAA (B) Ethrel
(C). 2,4-D (D) GA3

el Guaal damt Yal g s (Rusial) e w 8.
(A) A2 (B) Sud
) 2, 44 (D) 2¥A3

variety of mango is suitable for high density planting.

(A) Kesar (B)  Totapuri
(C) Rajapuri (D) Amrapalli
3 od (2 Hdl WA MR Y B,
(A) =R (B) iyl
(€) uaydl (D) 2uuwdl

When desire backed by willingness and ability to pay for the goods
is called

(A) Supply

(B) Cross demand
(C) Cross supply

(D) Demand

e Anaal W2l S50 A ey gl Asarll sl aat 2 Willa Sas1A
sdail 2 8.

(A) Yrad

(B) udl wiat
(C) ud Yad

(D) i
45 Which fruit is harvested at unripe stage for making pickles ?
(A) Phalsa (B) Custard apple
(C) Gunda (D) Fig
wARI stlqal 1 S0 WAL L Sl dQl dsis Gl 2d B,
(A) - &l (B) s
(C) 3et (D) B
HSA (194)_C
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46 Which of the following hormones is used for inducing flowering in
cucurbits ?
(A) Gibberellins (B) IBA
(C) NAA (D) None of the above
A2 wuldaniall s el Gualal sisdlui gl @aar w2 uy B ?
(A) 6634~y (B) 26l
(C) AmR (D) GuAsd U4 A5 uel ]

47

MS PowerPoint™i Aal yadl Rei-a saldar 21 ddisar 22 56§ silSs2
Sl GualaL sl w1 ) 7

(A) Ctrl + F1
(C) Shift + F1

(B) Alt + Fl
(D) Tab + F1

48 523 eoldi SMPS y3 At g B 7
(A) Standard-Mode Power Supply
(B) Search-Mode Power Supply
(C) Safe-Mode Power Supply
(D) Switched-Mode Power Supply

49 MS Exceli Current Time Adl %12 su1 Ry~ Guaa SAML A B ?

(A) =TIME( ) (B) =NOW( )

(C) =currentTIME( ) (D) =DURATION( )

50 MS Wordui W2aueR Msud Wrie 5391 i3 Gy Q) Joel) auid (%

545 53U
a8 ?
(A) A5 aud AB) & quq
(C) AL quid (D) R quq

HSA (194)_C 12
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52

53

54

55

The viable seed do not germinate even under favourable condition
like moisture, air, temperature and light. The state of the seed is called
as

(A) Viability (B) Vigour

(C) Dormancy (D) Germination

AR (viable) ol Ay, wal, diudi v usia Fdl xqgn Rl wet
2R udl «dl. ool wudl Ralaq PRETUIR N

(A) ARl (B) A

(C)  MMBual (D) »ig8L

3RuALL Rl 242 wRudl.
Gayua 4 €lg
(A) s-wwasdl Ridal €idl (B) pi-ywadl Ridl « €ldl

(C) % + €lg (D) Gawar 32 YL - €lal

(A 20d wsel AHA dAMd).

Rdust
(A) sgdlls (B) sduu
(C) dyay (D) GByue

il uRie sl wRudl.
(A) Rudale (B) [RaRbkig
(©) il (D) Ggadale

43 oeude weeldidl 54l use ‘gex’ woerll MLl aoe el ?
(A) Rl - (B) wusiel
() 3P (D) R

HSA (194)_C 13




56 The scientific name of cultivated mango 1s

(A') MangiferaKhasiana (B) Mangifera sylvatica
(C) Mangifera indica L. (D) Musa acuminata
Adl wedl 3 by w8,
(A) ARG AL (B) ¥HPiguRiadalest
(C) ARBZUS[RSL w4, (D) HumsyBi-ilel
57 is most serious disease of nursery seedlings.
(A) Damping off (B) Anthracnose
(C) Powdery mildew (D) Downey mildew
AR Al Al sje Aol B,
(A) B g (B) A-As+iln
(C) wasdl Brey (D) 3Gl [resy
58 Neelphonso, Neeleshwari, Neeleshan varieties of mango are released
by .
(A) NAU, Navsari (B) JAU, Junagadh
(C) AAU, Anand (D) SDAU, SK. Nagar
Aagd, flaxdl, fawq 30 ada AR TIE KT
CICCR
(A) ANy, Adaudl (B) %y, %-dle
(C) Ay, Rrie (D) day, A3, AR
59 Dieback, Root rot, Damping off, Scab diseases are caused by
(A) Virus (B) Fungi
(C) Bacteria (D) Mycoplasma
A9as, 32 A2, IR Alg, W A2 A4 SR8 Wy B,
(A) asw (B) g3l
(C) asRu D) Wb
60 _ gasis generated due (o anaerobic fermentation of biomass.
(A) Methane (B) Nitrogen
(C) Sulphur (D) Ammonium
ARUMS SAAAL AU 2R 5139, Y Bt AU B,
(A) B« B) s
©) AR (D) RNAadryy
HSA (194) C
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61 Substance. produced by plant in low concentrations and regulates
plant physiological processes. is known as

(A) Plant Growth Regulator (PGR)

(B) Plant Nutrient

(C) Plant hormones

(D) Photosynthesis

weld, ¥ 18 gl B0l AisdHi Geut wd O w1 913l WRS WBuiA
FaBid 53 8, ad  adld amani 2wl 8.

(A) a2 Ay wydR (PGR)

(B) w2 Wus

(C) ez el

(D) ustu=aNel

62  ‘dYacudl’ AqdsA-l WS M wRudl.

(A)
©)

R1yeL ¥d (B) A% wss
dlz e (D) 84e Ry sl

63 3Ruula-) 2 weudl.

‘53 et waal’
(A) -5 3oy wug (B) icid él g
(E) AuMael ge vuad (D) vu % 3B s &g

64 GudR AdAl gfiq 1 muq).

A)

csldHl qavil (B) u&Rwmas

(C) wa-t a3 (D) >l

65 Fill in the blank :
Noble policies of Narendra Modi win people's
(A) compliment © (B) complement

(C) 'complimant . (D) compleement

HSA (194)_C 15
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66 A cutting is a detached portion of a plant part (i.e. either root. stem
or leaf) placed in a suitable medium like sand. soil or saw dust so

that it may produce roots and shoots to form a new plant. The process
is called as

(A) Layering (B) Cutting
(C) Grafting (D) Budding
5291 B Bl Ml AedL ML B (A2 Yo, usls wEal wies) QoY

W ¥ 3 ), WAl vadl asdiv addi ysar 2ud 8 ¥l A 4al
Bl a1 W2 A g el sA w3, 2 wBAR

a3
oAl 20d B,
(A) aula (B) sl
(C) sax o-adl (D) @l¥ay
67  Spongy tissue is a physiological disorder, observed in fruit crop
(A) Sapota (B) Papaya
(C) Mango (D) Banana
A+ ULl ws s WARS RsR B, ¥ SOUALWSHE AU HA B,
(A) A (B) u¥y
©) ¥ (D) 3
68

In banana, Cv. Grand naine could be planted at a spacing of
1.8 m x 1.8 m with a density of plants per hectare.
o, AL A Add 852 €ls 13l uedL A

1.8 Mlza x 1.8 2l d? UAdR 53 wsiu B.

(A) 1800 (B) 3086
(C) 2500 (D) 3600
69 chemical is used for breaking of seed dormancy.
(A) Thiourea (B) IBA
(C) 1AA (D) NAA
el Gualdl ol MBYqiA Qeal w2 2 8.
(A) ayRu (B) udellz
(C) usHA (D) AuA

70 Disease may be endemic in one region and epidemic in another, which
prevalent throughout country 1S called as
(A) Sporadic disease (B) Endemic disease
(C) Pandemic disease (D) Universal disease
QoL A wpudi wWbts 2 AU Py O 943 B, ¥ AHA i
Wk 8 A PRETCTIEICR
(A) tu9aiuL A2
(C) Adedl 2aeudl Feudl
HSA (194)_C "
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71

72

73

74

75

has good vermicidal effect against white ans.
(A) - Castor cake

(B) Neem cake

(C)  Groundnut cake (D) Mahuva cake
— ude 400 Wi wdl el R WA D,
(A) A v (B) dlmdil vl
(€) nagulll wig (D) Hgaudl wla

Leaders are not always corrupt.. (Make affirmative)
(A) Leaders are never corrupt,

(B) Leaders are sometimes non-corrupt.

(C) Leaders are always corrupt.

(D) Leaders are not rarely corrupt.

Put proper question tag.

India, our mother land is great,

(A) is it ? (B) isn't it true ?
(C) is she ? (D) isn't she ?

Fill in the blank :

Jagdishchandra Bose discovered that ............
(A) plants have energy

(B) plants have chlorophyll

(C) plants have life

(D) plants can talk

Fill in the blank :

There was Eucalyptus tree near my house, but the tree was
cut yesterday.

(A) a (B) an

(C) the (D) none of these

HSA (194)_C 17




70

lotal root parasite of plant is -

(A) Cuscuta sp. (B) Loranthus sp.
() Orobanche sp. (D) Striga sp.
Blal ol yel WRuwdl 8.
(A) g . (B) diRay 0.
(©) 2004 2. (D) Rau 2.
77 A series of arches joint together forms a structure, which is known
as .
(A) Single arch (B)  Door
(€) Gate (D) Pergola
S Aysa RAell Mol As 2241 o1 8, % qdd adavani
WA B,
(A) R suq (B) suxy
(©) A (D) W
78 Scedlessness in banana is due to N
(A) Stimulative parthenocarpy  (B) Vegetative parthenocarpy
(C) Parthenogenesis (D) None of the above
ol ol QA A sRA W,
(A) Gaws wl-s (B) asuft wel-sdd
(€) AFA R (D) GWRsa A8l As you 4]
79  Which bakar is recommended in guava 9
(A) Ambe Bahar (B) Hasta Bahar
(C) Mrig Bahar (D) All of the above
AMHFAHL UL HAR Al HEUHSL SN 2y ) ?
(A) 8 oq8R (B) sl o8
(C) ¥ 8aR (D) GWAsd asun
HSA (194)_C 18
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80

81

82

Which of the followings is a natural auxin ?

(A) NAA (B) IBA
(C) MH (D) 1AA
AAnidl sl geadl »i5ud & ?

(A) ¥ (B) »udellt
(C) A (D) 2uuut

‘Buttoning' is a physiological disorder of

(A) Onion (B) Potato
(C) Garlic (D) Cauliflower
‘oMo A wisui aaufas wdlls [asi 8.
(A) $ll (B)- o215t
(C) aumt (D) sl

3 YN a4 Wl Raddl 3. 600/~ 5114 B. dl 4 Y2y ¥4 8 wl»il
sa sl yedl ?

(A) 2,000 (B) 1.400
(C) 2.800 (D) 1,000
0.5 &8s =AML

(A) 5x103 (B) 5x102
(€) 5x104 (D) 1x103

As d2ani 100 el 40 Ray wd d2dl -y Yadl 8. 4 Rau wd]
20 Radl qa @l ¢d e Ray A1 Yradl wad ?

(A) 24 LB 30
© » ®) 36

HSA (194)_C 19
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85 A culdd %Asi 4oy A3 Rdl.
(a) Hidey a- (1) =z dx-ua Predl
(b) 285 a- (2) waa1dl Predl
(c) elex qq (3) daxeld [edl
(d) oaél an (4) oi-1Asisl Predl
(e) [avud a- (5) 5% [edl
(A) (a)-(4). (c)(5). (d)-(2). (e)«(3). (b))
(B) (e)(3), (e)-(1). (a)(4), (b)-(5). (d)-(2)
(©) (e)-(3), (a)-(4). (d)-(2). (b)(5). (c)(1)
(D) (b)-(5), (d)-(2). (e)-(4). (c)-(1). (a)(3)
86 Example of nerve poison in insects is
(A) Chlorpyriphos (B) Neem
(C) Bacillus thuringiensis (BT) (D) Inert dust
Fg@ldi Adl A Gelgel @,
(A) eRdsa (B) dlxa
(C) Ay -¥Ra («04) (D) MRy ya
87 Which is serious pest of onion and garlic ?
(A) Thrips (B) Leaf hopper
(C) Mealy bug (D) Bulb borer
$oell A @ viel: aid 58 8 ?
(A) = (B) dls €iwz
(C) *dl w3 (D) sies oflz2
HSA (194)_C -
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91

The farmer who accepts new. agrotechnology lastly within his social
system is known as

(A) Last majority (B) Laggard

(C) Late majority (D) Innovators

¥ W Qe 2eulys oyazel dl s 25l dlsR 8@ 2 8
A add wDamani 24 8.

(A) Sedl agxdl (B) @dul

(0 Ml sgudl (D) $-azd

The first KVK was established in the year

(A) 1970 (B) 1972
(©) 197 (D) 1974
w33l et il ad edl
(A) 71970 (B) 1972
(C) 1971 (D) 1974

Ber is commercially propagated by

(A) Grafting (B) Air layering
(C) Budding (D) Seed

sl et gt e 9 wuRa 2 8.
(A) sax s-uadl (B) a2 aulRa
(C) «i¥ (D) ol
Bitterness in brinjal is due to presence of ___ in fruits.
(A) Glycoalkaloids (B) Amino acid
(C) Polyphenol (D) Copper
s+l @l s Poeeil U WA 8.
(A) arsizesdlss (B) Al A3
(C) Wlda : (D) dis}

HSA (194) C 21
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9%

95

96

AU URRUGNT Yol wdlel GIA drg ol diviid 82 8. diuHil
LR 63 UL Al et 20 8 7

(A) AwRe B) Qs
(©) Awlls (D) e

RURAFR [ttt w1 2881 sl APFUA sl AHE A3 vl ?

(A) 2017 (B) 2019

(C) 2015 (D) 2018

garrld sxloll sewel olf gL GRAAR ARl A WAL Al
2ol ol MM NAW ANaR SRRl sunsa 32ell Al ASU
UYL 20 B 7

(A) 3. 25,000 (B) 3. 15,000

(C) 3. 20,000 (D) 3. 30,000

Rl Vg e’ (Farmer's Day) s4R3 Gyaai »1d 8 ?
(A) 22 wdl (B) 10 s

(©) 91 (D) 23 RAR

Which of the following is an example of non-selective herbicide ?
(A) 2, 4D (B) Glyphosate

(C) Fluchloralin (D) None of the above
ARl sy Pr-wisdlysd Temel s Gasa @ ?

(A) 2, 4-4 (B) seuglde

(C) sygsalulan (D) GuAsa AH s wa dl

2
HSA (194)_C 2
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caflofl i WA Asade B,

(A) s8a Gaue (B) &4 Gowen

(C) &0 Gawext (D) adilbiq Gaues
HSA (194)_C 23

Coconut water contains high  amount of

(A) Auxin (B) Ethylene

(C) Gibberellin (D) Cytokinin

Sl wHLL auiR €y 8.
(B) . Sl

(D) WHABMA

AAR ey
(A) [z

(C) 29oa 3y

Which plant is suitable for bonsai preparation ?

(A) Ficus religiosa (B) Royal palm

(D) Coconut
oLUSHl qudl M2 s 918 Aoy B ?

(C) Ficus repens

(A) susu W@
(O) slusy RA

(B) ud wm

(D) AR

"Fruit cracking" in tomato is due to deficiency of
(A) Boron

(B) Zinc
(C) Potash (D) Iron
e ‘et 3B Al Gl SR u B,
(A) o0 (B) orud
(C) Wew (D) @iy

"Yellow Revolution" is associated with
(A) Pulse production
(C) Fruit production

(B) Milk production
(D) Oilseeds production

hormone.
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